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Exam. Code KARHSIM Test Booklet No. :
: e & e —gieaent | ¢
| (This Test Booklet contains UNATTACHED OMR Answer-sheet inside.) TIME : 2 Hours 15 Minutes
I (38 when-yftae & et Eaf=a 3. UH. 3R, IW-Uh T g §) ug : 2 9t 15 fume
Subject No. of Questions TS Tyt Y G
General Studies 100 AT &g 100

NOTE : Please read the “Instructions to Candidates” and then fill up the following accordingly.
e : ““adienfeiEt & ford e = ug o aa 3k STgER it W 1)
1. Candidate’s Name:
(rrerreft w6t A1)
2. Candidate’s Full Signature :
(remeft 1 T TEATER)

3. Roll No. (Fill in digits and words as shown in the Example) :

Tt 4. (Serever (Fdy v 2) # fewame T3 g e1uA e TXa Y 3iehi auT weal § o)

4. Exam.Centre:
(Trem eg)
5. Exam. Centre Code:

(Tfirer e BT RIE)

INSTRUCTIONS TO CANDIDATES
(wrerfela < forat dr)

(A) General (|THT) :

I1. This Booklet contains 24 pages and one unattached OMR Answer Sheet kept inside it. As soon as the booklet is distributed,
Examinees are directed to confirm the number of pages, legibility of printing etc. They must also confirm that the Bar Code is printed
I onthe OMR Answer Sheet. No complain will be entertained for exchange of booklet later than 10 minutes after distribution.

| i e H O TR 371U, SR, I T o SR 24 955 8 | S e 7 gfecen forafia o1 Siwht & 39 € e e b =nfed ok o 36k
| TSR e ST S <R gt iR o Eeeh Sifel o o | e otaedl bl 7 off iRfT <R o e o S1LEH. S ST R e B R |
wreT et o sie o 36 THE o TG 38 SIaei ohi his TRToRTaI ST el oht STt |

|2. Roll No. should be written in digits as well as in words in the appropriate Box provided at serial-3 above on the upper portion of the
front cover page of this Test Booklet as per the example given below :

1 TteqT TR o A T o ST 9T o 369 3§ ST T3 et st 8 el o3 T 3aTer ok STgHR e TR i 37k ae Il § fere R

Example (3212201): Roll No. (T 4):179682 | 1 | 7 | 9 | 6 | 8 | 2
[o} S N S E T
N| E| I | w
E|V|N|X |G| oO
E| E H
N T

3.The candidate will first open GREEN Colour Seal only and read the complete instructions carefully as also see the instructions on
the back side and fill the details in the Question Paper and OMR Answer Sheet. Candidates will next open BLUE Colour Seal when
asked to do so. Before answering please ensure that Question Booklet has 24 pages and 100 questions. Immediately report on error
and ask for change.
Hel Yo el el T T Shl HYer Wit 37 ) 1T et i S Ay € Sifaw gt A < 7 FEietl i e U U | 3w o S ST IR, IR
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In the Test Booklet, there are 100 questions. Thus 100 questions in all are to be answered.

Tie gfEdent § Fa 100 T & | 36 TRR Fod 100 T1 1 ST TR |

Each Question is of 1 mark, which will be awarded for the correct answer. 0.5 mark will be deducted for

each wrong answer. More than one Answer indicated against a Question will be declared as incorrect

Answer.

ek U9 o T 1 37k it € o2 ot 3o oh ford fean ST | wiedieh Tretd ST e 0.5 37eh whie foran SR |
Ife weh y9a & foru wens @ arferes I fod S @1 38 39 w9 & ford Tt SO HEn S |

If there is any difference between English version and the corresponding translated version in Hindi of
any question, then the English version will be treated as authentic.

I Ssh # gisa foret woa o 3ueh ot s1game & =iiE forran &1 a s § gfsd wod & wwr g |

Use of Calculator/Slide Rule/Log Table/Graph Paper/Charts or any electronic gadget eg. Mobile Phone
etc. is not allowed.

FeApIet /TATESES /AN et /TTHUTR /ATEH AT TRt Th o Soiareli-eh IUhTUT QeI HIATSH %I 3T1fE 1
3Iug afsid 2 |

Any candidate attempting or using unfair means or copying or detaching any page of question booklet
or marking the answer on the question booklet will be expelled and his candidature will be rejected.

s wIE wheaneff Tt e, T qlieh ST, THET-TIETehT T It3 HIed AT 39 T IW fored arm S
a1 38 wher ¥ st ot foan S ot 3ueht 3ufiear) & &t & SRt |

Candidates must also follow the instructions, which may be given by the Centre Superintendent from
time to time.

TheET sheg o hesrelieeh g0 aua-awd W o3 T s s weft wdienffEt grn urer s g |

ADDITIONAL BOOKLET/ANSWER SHEET WILL NOT BE PROVIDED UNDER ANY CIRCUMSTANCES
OTHER THAN THAT MENTIONED IN 1 ABOVE.

FA 11 Fifa when-giede vd ST uaeh o SAfdiad STerT d s 311 Ten-Tiedent 3 3T ek forelt oft
fefeuta o e feam smm |

Candidates on completion of examination handover the OMR answer sheet to the invigilator. The invigilator
shall separate the two sheets and handover the duplicate copy (orange) which is mandatory to preserve

till counseling is over. Candidates are allowed to carry the question booklet allotted to them.

TET & qU B T IFHIGER 1. TH.AR. I gi&rert e ol |9ia § | Fiieres aHi gieaenie sl st
AT 3T gl i (Artt) TRt G o, {8 weafen & e g 7o guidd o sifed 2 | Sefieard
1 3¢ ATeITed I YfEdeht of ST 1 SIA ] |

Continued on Page No. 3
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(B) Process for Filling up OMR Answer-Sheet (211.TH. 3. 37 UsTeh hi WA <l UfhaT)

1. ANSWER SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER.
I Uk 311 UH. TR, YR 1 2 8 Pyt TR g1 9el ST 2 |
2. Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Answer

Sheet in CAPITAL LETTERS. The Digits should be written in appropriate boxes in Blue/Black ball point
pen and the circles corresponding to the digits be darkened with Blue/Black ball point pen only.

I I o Fdse TAH R U Tra/oia ohex 1 ohis /TiaT IRedeht ol J&aT 3T1fe sl IT-TF |
FHitea A & W | Ffdse SR @t & o7e el /el oTel @ise oM 8 W) 3R Fref-ag el = b

et /hTet ! TieT WTee her® & 1 |
Example: If Roll No. is 179682 and the Question Booklet No. is 2439, then
3ETeur:  Ifd O AR 179682 2, @ T wlie gfedert g 2439 7, 1
1179|682 2|4 ]138|09
L JRONONOI IOINO) DOIO|O
@10 0|00 @ 00> ®
GO IONEOMEO) (OO OO ME)
Ol ICHCAICRICHC, O} O]
Gl 6|e|G |G ® 6|06
®|6 © 0|6 ® ®6e|6|®
00 @ 0|0 @ 00|00
®Ie 6 |0e|e ®
@010 00|00 OMONOM
O ICHONC IO, ©0|0]|0

3. Oncompletion of examination handover the answer sheet to the Invigilator. The Invigilator shall separate
the two sheets and handover the duplicate copy (orange) to you.

e B % TG IT THh I AN (FIETESR) i faon S =nfee | sAfafsreret a1 sfie i o7 s
gfocThe T i IR T =R |

4. The questions are multiple choice type. Each question is provided with a number of choices of Answers,
out of which ONLY ONE is MOST APPROPRIATE. The candidate must darken the appropriate circle
provided in front of the question number, using Blue/Black ball point pen only.

TR g Torshed JehR o 2 | Tedeh e o o1 ot Tt foreed I © 9 oharel U &1 Hatieren 3ugad ¢ | wiaefl i
Y TEAT o Tk I foehed o T & TESI{Ed el sl Freft /hTefl STt Wige hed 8 & T 2 |

Example : If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question
no. 7 as shown below :

IS : TS I G 7 o ToAU ooy ‘B |l ST R, 1 997 G 7 o 98- o raf=ard Tl i i femm

% TR T & -

Q.No.1 @ © O

QNo.2 @ © ©

QNo.7 ® @ © © Continued on Page No. 24
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General Studies

Who was the first Prime Minister of India ?
(A) Atal Bihari Vajpayee (B) Jawaharlal Nehru
(C) Inder Kumar Guijral (D) Chandra Shekar

Which gas is necessary for Photosynthesis to take place ?
(A) Oxygen (B) Hydrogen
(C) Nitrogen (D) Carbon di-oxide

The only Mammal that can fly
(A) Bat (B) Peacock (C) Penguin (D) Ostrich

When milk is converted into curd the sour taste is due to
(A) Lactic acid (B) Citric acid
(C) Tartaric acid (D) Acetic acid

The purest form of water

(A) Surface water (B) Well water (C) Rain water (D) Mineral water

Proteins are not found in
(A) Eggs (B) Meat (C) Pulses (D) Rice

Oranges contain Vitamin
(A) A (B) C (C) B (D) D

is not a primary colour.
(A) Red (B) Blue (C) Green (D) Yellow

Quit India Movement was launched in the year
(A) 1938 (B) 1943 (C) 1942 (D) 1935

Blue Mountains are
(A) Himalayas (B) Nilgiris (C) Vindhyas (D) Aravalli

In which field did C. V. Raman win the Nobel Prize ?
(A) Biology (B) Physics (C) Chemistry (D) Mathematics
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HAH 3799
1. YRd % 9YH YIHE i 9 ?
(A) 31ed forerit arsto=h (B) SHETEL AT HE®
(C) TS FHR TSI (D) TSI
2. RIS TR oh) Ufshan o foru o off i sqrasaer gidi 2 7
(A) AT (B) TRSNH (C) TSaSH (D) hIsH SrE-3ATRTES
3. T S Sl 3 HWehaT & ¢
(A) =HTES (B) #R (C) tfeH (D) U

4. <& g9 <€ ¥ ufEfdd 2ian 2 9 38 G i a9E Bt 2
(A) AfFesh Tfrs (B) WERF T (C) Tf&THe (D) wWiRETle

5. UM ol YE ®USH A B AR 7
(A) -3 (B) FIHUM (C) awiwIgHt (D) FRaaiX

6. 34 @ forgd M TS g ST R ?

(A) 37T (B) T™ (C) =T (D) =mad
7. SR HwA G foerfi=e ?
(A) A (B) C (C) B (b) D
8. wrerfires T A R |
(A) A (B) e (C) T (D) diem
9. VR BIS! aIaH foher 9 g3 ?
(A) 1938 (B) 1943 (C) 1942 (D) 1935
10. i 9=TE (Blue Mountains) 3TH B s &1 R ?
(A) Rae= (B) Hafrd (C) faem (D) EA
11, & 3. T o0 FoRd &3 § el Jeenr e ?
(A) e fagm (B) wiffrfosm (C) WRAYE (D) T
FN -5-
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12. What is the abbreviation IST ?
(A) Indian Standard Time (B) Indian System Time
(C) Indian Standard Trunk (D) Indian System Trunk

13.  Which one of these is not an athlete ?
(A) Milkha Singh (B) P.T.Usha
(C) Leander Paes (D) Norman Gilbert Pritchard

14.  Which liquid is known as the universal solvent ?
(A) Petrol (B) Alcohol (C) Water (D) Liquid hydrogen

15.  Which Indian state has the highest population density ?
(A) Uttar Pradesh (B) Bihar (C) West Bengal (D) Maharashtra

16. First 5 year plan was based on which model ?
(A) P. C. Mahalanobis Model (B) Harrod Domar Model
(C) R. K. Shanmukhan Chetty Model (D) Malthusian Growth Model

17. In which country Harappa is situated ?
(A) Pakistan (B) Afghanistan (C) Nepal (D) India
18. Which of the following is used in Pencil ?
(A) Graphite (B) Charcoal (C) Silicon (D) Phosphorus
19. When was Right to Information Act passed ?
(A) 2009 (B) 2005 (C) 2002 (D) 2007
20. Which of the following is not associated with primary sector ?

(A) agriculture (B) forestry (C) mining (D) banking

21. When is International Worker’s Day ?
(A) 15 April (B) 1 May
(C) 12 December (D) 1 August

22. Which among the following states has the highest literacy rate ?
(A) Kerala (B) Andhra Pradesh
(C) Karnataka (D) Maharashtra

FN 5
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12, ISTHI QUi €T ?

(A) sfeom v aEn (B) sfea forem sy

(C) 3feaa wed Im (D) sfea fazem 3
13. 30 @M faare! (vuefie) TR ?

(A) Toeen e (B) . d.3W

(C) feuetum (D) At e fifeare
14. oG T =1 gresiifues foamaes & ®ud ST ST g ?

(A) U (B) (C) UemhiEd (D) O ETEgISH
15. WX <hl forE U= 1 SHEEAT OHcd 98 3Tfeeh 2 7

(A) ITIRI (B) TR (C) ufmsmel (D) WERIS
16. UEAT UGG AT fohd ATSd 9T AT o 7

(A) Y. ©. qeaifeE nisd (B) TS IMT HISH

(C) SR . TG I U (D) HTAYH M Higed
17. sew frmeuH fea ?

(A) Ul (B) IWMEAH  (C) Ui (D) 9rd
18. Uf¥d 344 9 forgen ST BT R ?

(A) THTEE (B) <HIA (C) fachria (D) HEBTE
19. T T AR AT shel T 3T 7

(A) 2009 (B) 2005 (C) 2002 (D) 2007
20. TH O I WU & 9 geiud Aei ® ?

(A) FN (B) = (C) @™ (D) ST
21, ST AoigY foad ford fad AT ST | ?

(A) 15 3T (B) 1Ws (C) 12 feomr (D) 1 3T
22, T8 9 forg T ol F1&dT S Gy @ 7

(A) FA (B) MY YT (C) AeH (D) WHEW
FN 7-
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23. Non-Stick cooking utensils are coated with a
(A) Teflon (B) Black Paint (C)
24. is very famous of Darjeeling.
(A) Tea (B) Clothes (C)
25. Asiatic lions are found in

26.

27.

28.

29.

30.

31.

32.

33.

FN

(A)
(C) Kaziranga in Assam

Gir forest in Gujarat

(B)
(D)

Rafael Nadal the Tennis player belongs to
(A) (B)

Who is the Chairman of Infosys ?
(A) Nandan Nilekani
(C)

ltaly Spain C)

(B)

Narayan Murthy (D)

P.V.C.

(D) Polystyrine

Coffee (D) Flowers

Jim Corbett in Uttarakhand
Sariska in Rajasthan

Which of the following is not a part of the parliament of India ?

(A) Lok Sabha
(C) Supreme Court

(B)
(D)

The state of Jharkhand came into existence in the year

(A) 2000 (B) 2008 (®)
The book of Parsis is

(A) Torah (B) Zend Avesta (C)
‘Microsoft’ was started by

(A) Bill Gates (B) Bill Steves ©)
‘Gitanjali’ is a book written by

(A) Sarojini Naidu (B)
(C) Rabindranath Tagore (D)
Guru Gobind Singh was

(A) The 10t Guru of the Sikhs (B)
(C) Founder of Khalsa (D)

Germany (D) USA
Ramdas Pai

Azeem Premiji

Rajya Sabha

The President

2002 (D) 1998
Bible (D) Gita

Bill Clinton (D) Bill Jones

Jawaharlal Nehru
Motilal Nehru

Author of Dasam Granth
All the above
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

FN

(A) THAE (B) THIAT T
i Eiirsucal THER |

(A) = (B) U
RS D hET T ST R ?

(A) T, TR

(C) RIS, 37|

e faard e e fra T 2 7
(A) el (B) &
THITE hT AL i ?

(A) e iRt (B) TWEH TS
T8 9 hi9 WA & 98 T AT L ® ?
(A) T

(C) I=IdH AT

SEE UsY forg o stfedea ® 31 ?
(A) 2000 (B) 2008
98 9 4 IR s forde @ 7

(A) 2R (B) e &

‘TR foRteh ST 1% foRar T 7
(A) foreaie

(C) foarfades
“tfrerstel)’ foreres g foredi 8 ?

(A) TUSH ATES,

(C) sy amR

TE i i
(A) ToEi & gd e
(C) Tt o TEATIH o

(©)

(©)

(B)

(©)

(€)

(B)
(D)

(B)

(B)
(D)

KARHSIM
qt. oft. =i (D) wiferafed=
I (D) &
fom wisie, IS
AR, TSI
St (D) 4.uH.u.
TR (D) TS s
T an
LU
2002 (D) 1998
CIECK] (D) Tftar
[ERETE
forer<i=m

Sidlal clled de®

i} AT 8%

99 U9 & dGF I
T A adfl
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35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

FN

Filaria is caused by
(A) Bacteria (B) Protozoa (C) Mosquito (D) Virus

Who was the first Indian Chief of Army Staff of the Indian Army ?

(A) Gen. K. M. Cariappa (B) Gen. Maharaja Rajendra Singhiji
(C) Vice-Admiral R. D. Katari (D) None of the above

Air is a/an

(A) Compound (B) Element (C) Electrolyte (D) Mixture
Durand Cup is associated with the game of

(A) Cricket (B) Hockey (C) Football (D) Volleyball
Milkha Singh stood in 1960 Olympics in Athletics.

(A) Fourthin 400 m final (B) Second in 400 m final

(C) Third in 400 m final (D) Seventh in 800 m final

Medha Patkar is associated with

(A) Tehri Project (B) Sardar Sarovar Project

(C) Enron Project (D) Dhabhol Project

Kathakali is a famous dance of

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Andhra Pradesh
Headquarters of UNO is situated at

(A) New York, USA (B) Geneva

(C) Hague (Netherlands) (D) Paris

For seeing objects at the surface of water from a submarine under water, the

instrument used is
(A) Kaleidoscope (B) Spectroscope (C) Periscope (D) Telescope

To which king belongs the Lion Capital at Sarnath ?

(A) Kaniskha (B) Ashok (C) Harsha (D) Chandragupta
For galvanizing iron which of the following metals is used ?
(A) Aluminium (B) Lead (C) Copper (D) Zinc

-10-
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FIEATE forgeh HRUT BT 2 ?
(A) S (B) WIS (C) H==X (D) ™
TS E1 31 e S fH - HATE e shi o ?
(A) S . TH. i (B) SR HEWS Tsi5 f&g Sft
(C) dTeH UShiRet 3R, €. Fherl (D) 378 | whIg T
g1
(A) AfiED (B) @R (C) Toaiemser (D) o
TeFI R ET a Jergen e ?
(A) Torehe (B) ®rh (C) e (D) dfcfiater
firean fog 1960 3tfafrues @ TIH R |
(A) 400 =, # ST TIH (B) 400 Hi. # gEUTIH
(C) 400 . ¥ e T (D) 800 Hi. T TTdaT T
HET UTesh 370 § fohd TR o ST IS g @ 7
(A) el uiErSH (B) TRER TG af ST
(C) TAH Ul (D) TSI IR ST
AT T Tt Tohd T 1 & 7
(A) FA (B) dfHaTg (C) wAIeH (D) MY Y
.31, 1 JEAT el [6d @ 7
(A) =T, 4 TET. (B) S (C) ¥ (Hrewciem) (D)

42.

43.

44,

FN

T ok Il Teh Tgestt § U1 o1 Tds T gl ol 3@ o ToTe, ford TTe o1 ST forarm
ST g ?

(A) hiTSR=hIY (B) TFR=hIT (C) ufw=hig (D) JAEn

A

g | fedrg fog 3 fpm aen @ wafeq @ 7

(A) HiT=h (B) ¥k (C) = (D) ==

AR ol AeTaTe! (Fefg) i o foru foret e a1 T g 2 7

(A) TegHifEm (B) e (C) dmsm (D) Toreh (sream)
1.
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45. India’s first satellite is named after
(A) Aryabhatta (B) Baskaral (C) Baskarall (D) Albert Einstein

46. India’s first atomic reactor was
(A) Zenina (B) Dhruva (C) Apsara (D) Kamini

47. In which season do we need more fat ?
(A) Rainy season  (B) Spring (C) Winter (D) Summer

48. India became a member of UN in
(A) 1945 (B) 1947 (C) 1959 (D) 1960

49. The number of nominated members in Rajya Sabha are
(A) 10 B) 11 (C) 12 (D) 13

50. Joule is the unit of

(A) Temperature (B) Pressure (C) Energy (D) Heat

51. The members of Rajya Sabha hold office for a tenure of

(A) 4years (B) 5years (C) 6years (D) 7 years

52. Which is a green house gas ?
(A) Oxygen (B) Methane
(C) Nitrogen (D) None of the above

53. Playground where cricket is played is called
(A) Field (B) Grass (C) Pitch (D) Stadium

54. What percent of Earth’s surface is covered by water ?

(A) 29% (B) 71% (C) 72% (D) 27%

55. Study of plants is called
(A) Biology (B) Zoology (C) Botany (D) Biotechnology

56. Preparation of food by green plants is called
(A) Synthesis (B) Autotrophs
(C) Food Preparation (D) Photosynthesis

FN -12-
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45. A 1 U8l TR 30 O fohteh T W@ TR 7
(A) R (C) wTEhtll (D) 3Tcad AT
46. T %1 TET TRHTY] UL shi o1 ?
(A) ST (C) 3T (D) I
47. Torm iy | 91 sh AT STTEERAT B2 7
(A) =i i (C) wha (D) s
48. WA 9,TH. 1 Ga fopd o &1 7
(A) 1945 (C) 1959 (D) 1960
49. TSI GHTH AHIThd Tl &l g fera-i 2 ?
(A) 10 (C) 12 (D) 13
50. it (joule) fFmehl TS & 7
(A) dIHE (C) =it (D) dm™
51. TSI 91 hl Geed] fohda aui hl gl @ ?
(A) =Ray (B) U=y (C) ®:ad (D) waay
52, THUGBMENARAAR ?
(A) 3RS (B) HieH
(C) HTEISH (D) YU H U Hig A&l
53. W 1 SHIH ST&T fehehe Wl STTaT 2
(A) e ) fu= (D) wfemm
54. Yedt st Hag W fehdaT TiasTd U o STERT R 7
(A) 29% (C) 72% (D) 27%
55. Gl ohl 3TEIF ol 1 Shel ST & 7
(A) Siafas™ (B) S (C) &Il (D) Sid renfieht
56. B Ul g WISH a0 o TishdT okl shel STl @
(A) TN (B) TN (C) W= dI (D) ThIST TTATUT
FN A3
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57. The national song “Vande Mataram” was composed by
(A) Bankim Chandra Chatterjee (B) Muhammad Igbal
(C) Rabindranath Tagore (D) None of the above
58. Respiratory system of human consists of
(A) Saliva, Stomach (B) Nose, Lungs
(C) Chyme, Amylase (D) Saliva, Bile
59. Sriharikota, the Indian Satellite Launching Centre is in
(A) Andhra Pradesh (B) Tamil Nadu
(C) Kerala (D) Karnataka
60. In which state is the Nathu La Pass situated?.
(A) Arunachal Pradesh (B) Uttarakhand
(C) Assam (D) Sikkim
61. Zoji La Pass connects
(A) Nepal and Tibet (B) Leh and Srinagar
(C) Leh and Kargil (D) Kashmir and Tibet
62. Whatis “Jhum”?
(A) A type of cultivation (B) A tribe
(C) Arriver valley (D) A folk dance

63. When is World Water Day Celebrated?
(A) March 22nd (B) July 21st (C) July 22nd (D) March 21st

64. The Non-Cooperation Movement started in
(A) 1870 (B) 1931 (C) 1920 (D) 1942

65. The sphere which consists of gases and water vapour is called
(A) Lithosphere (B) Atmosphere (C) Ecosphere (D) Biosphere

66. Who constructed the Sanchi Stupa?

(A) Chandragupta (B) Mahavira
(C) Gautam Buddha (D) Ashoka
67. Manu Smriti deals with the subject of
(A) Economics (B) Politics (C) Law (D) Art
FN -14-
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Which one of the following is not a sect of Buddhism ?
(A) Mahayana (B) Digambar (C) Hinayana (D) Thervad

The International Court of Justice has its headquarters in
(A) The Hague (B) London (C) New York (D) Washington

Who is known as Father of Ayurveda?
(A) Aryabhatta (B) Chanakya (C) Varahamihira (D) Charaka

The Secretary General of the UNO is
(A) Kofi Annan (B) Ban Ki-Moon
(C) Kurt Waldheim (D) Boutros Boutros-Ghali

World Trade Organization was earlier called
(A) OlIC (B) GATT (C) oOcCC (D) G-77

In which of district of Karnataka is gold mine located ?
(A) Kolar (B) Bellary (C) Mysore (D) Tumkur

Fats and oils are
(A) carbohydrates (B) proteins
(C) lipids (D) none of the above

The disease caused by virus is
(A) Malaria (B) Tuberculosis (C) Smallpox (D) Diarrhoea

The richest source of Vitamin C is
(A) Amla (B) Papaya (C) Grapes (D) Guava

Ecology studies

(A) Cell formation

(B) Relation between organisms and their environment
(C) Relation between living and non-living things

(D) None of the above

Which state is a major producer of saffron?
(A) Kerala (B) Punjab
(C) Gujarat (D) Jammu and Kashmir
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Which place in India does not have a nuclear power plant ?
(A) Rawatbhata (B) Silchar (C) Narora (D) Tarapore

When coal burns

(A) Chemical energy is converted to heat energy
(B) Heat energy is created

(C) Chemical energy is destroyed

(D) None of the above

The normal temperature of the human body is

(A) 86.9°F (B) 68.9°F (C) 98.6°F (D) 69.8°F
In the relationship E=mc?, the symbol m represents

(A) mass (B) molecules

(C) momentum (D) none of the above

The primary plant nutrients are

(A) Phosphorus, nitrogen and calcium

(B) Magnesium, phosphorus and nitrogen
(C) Phosphorus, potassium and nitrogen
(D) None of the above

Which of these does not belong to liquids ?

(A) Water (B) Air (C) Oil (D) Honey
Alexander Fleming discovered
(A) Penicillin (B) X-Ray (C) Quinine (D) Streptomycin
Who gets Dronacharya Award ?
(A) BestWrestler (B) BestBatsman
(C) Best Coach (D) Best Tennis Player
Which day has been declared as the National Voters Day in India ?
(A) January 51 (B) January 7" (C) January 20" (D) January 25"
The metal present in the hemoglobin is
(A) Iron (B) Calcium (C) Copper (D) Aluminum
A group of stars is called
(A) System (B) Galaxy (C) Constellation (D) Patterns
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90. Halley’s Comet appears once in years.

(A) 76 years (B) 67 years (C) 56 years (D) 65years
91. The place of maximum rainfall in the world is

(A) Chirapuniji (B) Shillong (C) Dispur (D) Mawsynran
92. Who of the following Presidents of India was born in Bihar ?

(A) Zakir Husain (B) Neelam Sanjeeva Reddy

(C) Rajendra Prasad (D) K. R. Narayanan
93. Pongal is a major festival of

(A) Tamil Nadu (B) Karnataka (C) Oirissa (D) Kerala
94. The film which was given the Oscars 2013 Best Picture Award is

95.

96.

97.

98.

99.

100.

FN

(A) Paperman (B) Argo (C) Life of Pi (D) Lincoln
Kisan Baburao, a social activist, is also known as

(A) Baba Amte (B) Ramdev Baba

(C) Vinobha Bhave (D) Anna Hazare

Where is the Bandipur National Park?

(A) Karnataka (B) Assam

(C) Andhra Pradesh (D) Orissa

Bihar Government prohibited the sale and manufacturing of all the products
for next one year.

(A) Oilseeds (B) Tobacco (C) Meat (D) Cotton

Indian spacecraft to Mars is named

(A) Chandrayaan (B) Mangalyaan

(C) Vayuyaan (D) None of the above

The Brand Ambassador for National Tobacco Control Campaign is

(A) Mahinder Singh Dhoni (B) Rahul Dravid
(C) Virat Kohli (D) None of the above
The next Chief of Air Staff of India from 31 December 2013 will be
(A) N.A. K. Browne (B) A.Raha
(C) P.V.Naik (D) S.P.Tyagi
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5. (a) Thecircles, as described in4 above, are to be darkened by using Blue/Black ball point pen only.

() 3T FH 4 H Tq T STTAR T 1 et /Rt aiet Wrge e g & T| 2 |

(b) The shading should be dark and should completely fill the circle.
(@) Tl I qUIEYT | 9 TS T &M =11 |

(c) Only one circle corresponding to the correct answer should be darkened as shown below :

(T7) T 3T B T2 holel Teh &1 Tied sl T ST =T < e e = R

Correct/@@l A @ © O
incorrect/ M A @ @D o APODor AFODor®®O D
Incorrect /7Ted @“@ o AP OD or@.@@or@”@

(d) If more than one circle is darkened using Blue/Black ball point pen or if the response is marked in
any other manner or as shown in “Incorrect method” above, it shall be treated as wrong way of
marking.

(71) afe weh | Aferek Mt hl At /hTell AT WSS THetd T T STRAT AT 3 fohdl 3771 TR © 3127aT S0
fe@r T Tt TRt @ sTed TR SR At 39 TTetd SR foaan S |

6. Rough work must not be done on the OMR Answer Sheet. Free space provided in the question booklet
should only be used for this purpose.

ToRET STeRTX 3T el ShTH ST U519k T R T © | 39 TiE giedent § 3Heh Tof @relt T i faan w7, 3¢t
W el HH B |

7. ‘“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the
candidature will be rejected.

S TF WY TR W HE awe w1 fwm o 7 59 = 58 foredt ot 7 fagha A o T o Bm 2
1= gerefi it Srfiea T < SR |

8. Candidate must not leave any mark of identification on any part of the Answer Sheet except as asked on
the OMR Answer Sheet as this may lead to disqualification.

IrIGaR 1 371.TH.3TR. (OMR) 3T YfEeht § 8 T o TATaT Ik Giecrert o forelt o1 R ugere o foreht oft
e =t 7 Bie1 w1RT, 3HE 97 A B FhAT | |

9. For verification of your handwriting, it is necessary to write the prescribed Text completely, which is
printed in Hindi on the OMR Sheet and also put your signature on specified space in Hindi and English
otherwise your answer sheet / candidature will be rejected.

1ot forarae & geamd & fore, fuffa ue 8 of.w.om. ok | & 9 gfsa fren mon 2, 389 9 faem
JTaweh & 31 ffdee Tom w fedt o o1isht & oo eert oft &R, =re SToehl 3wt gfedent /SrieaTd sredighd
Exgdis il

10. In case you do not follow the instructions as given on the backside of OMR answer sheet, your answer
sheet is liable to be rejected for which you yourself will be fully responsible.

IR 9 371.TUH. TR, o IO I o I53 9T 8 3 T Fsemi ot drer =1t fehan ot 3119eht 3o wreh 3 fehamm s
Teha § Torees foe 31 Tt ot &9 & Sawerh & |
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